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~how to know the number of go stones~
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ZFBER (English translation)

How to know the number of the go stone when you arrange it round in a circle outside.
As shown in the figure, you arrange go stones around one of go stone and they arrange six stones.
And you arrange them again, you can see twelve go stones.
In this way you go and increase by one lap, you can see that it will increase by six.
As shown in this figure, when go stones are arranged three laps, you can see there are six stones between
the separated lines into six equally spaced from the center.
You times it by 6 then, there are 36 go stones.
And you add the central go stone to them, you get 37 go stones.
Moreover adding fourth rap to them, the go stones number between lines is ten.
You times it by 6 then, there are 60 go stones and you add the central go stone to them, you get 61 go
stones.
As shown in this figure which divide them in to 6, you can find shapes look like six pieces of pizza.
And there are 18 go stones in the last rap it means that you can take 3 times by 6.
So you can see that go stones are arranged three laps in this figure.
Even if you count go stones 17 or 19, you could see there are three raps to regard these as 18.
I mean that if there are 24 go stones, you can find these are four laps.
So you can see that it will increase by six every one laps.
How to know the number of laps which has 37 go stones is that you reduce the middle go stone and divide
other 36 go stones by 6, you get 6. And you arrange them like a piece of pizza then you can see there are 3
laps.
You can see the number of go stones in the last lap is 3 times 6 is 18 because the third carriage multiplied
by 6 is 18.
And from a perimeter which has 18 stones, you take out 6 stones one by one.
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Six

~Pwelve

The number of go stones of the centre is one.
The number of twice lap is six.

The number of third lap is twelve.
Accordingly, you go and increase by one lap,
you can see that it will increase by six.

So, the number of the “n” lap is 6(n—1).
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But you need to add “1” because you did not
consider one go stone of centre.

So, the number of go stones of the “n” lap is
3n(n—-1)+1
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the number of go-stones in the
last step. We multiply the
number of the triangle’s
total by 6 and add them to 1 last.
That is how we found all the
number of go-stones.

mathematically, to make modern translation easy.
We have changed Japanese cedar to pizza in
English. And it has become easy for foreigner to
image it. It was hard to carry’Y’ and figures.
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